


TEHERRER

IERY T & & Al wmooA 537} Bl #H = =
ERRER
BHELT E= 1.0
EEIT = 1.0
28| (£7) F—TAEHE m3 7.3
FYEHE| m3 19. 8
RtirELyY t=20cm m2 351.2 |V=351. 2x0. 20=70. 2m3
BRfREEE T = 1.0
BRI W<1. 0 m3 2.9
1.0=W<2.5 m3 43. 6
2.5=W4.0 m3 98
BRELT E 1.0
BRER W<1. 0 m3 13.0
1.0=W<2.5 m3 330
2.5=<W4.0 m3 13
4.0=W m3 273.8
ftaa+t T = 1.0
BERE S0 (BETE L) W<1. 0 m3 5.0




TEHERRER

IERS| T g & Al wmooA 537} B M = &
1 0=<WK2. 5 m3 13.4
LT E 1.0
+ U {HHE (R R) 2.5=WK4.0 3 10.0
EEERT = 1.0
EEER (YL E) m3 58. 6
EEER (FLTE) m3 111.8
LT IET =
FE+ m3 (132.9)
SEET = 1.0
LT = 1.0
B8 m2 170.4 |58, 6+111.8
PERET = 1.0
{EELT = 1.0
IR + 8 m3 5.2
P E m3 34, 1




IEHEBLFERX
IERXS I g g Al wmooA p3] % B M = =

B L c m3 34.9
D m3 1.5
SRTFTHERE T = 1.0
2B BN R GW-2, TE#5H=0. 99m, L=5. 09m m3 2.8
328 HiER GW-36, SE #H=1. 90m, L=17. 25m m3 31.8
AA— T = 1.0
{EELT E 1.0
K IE + 5 m3 731.6
EEEE + 8 m2 112.9
B L c m3 328.9
D m3 24.9
SRTITERE T 2 1.0

12 E (B4400 x H2500) = 1.0 |L=17. 4m
HwLarvyy—rEZ m2 2.9

WLavsy—p 18-8-40, t=10cm m2 79.4 |v=7. 9m3
B SkEiEEY m2 293.3

AR 1%
S22 hy—F 24-8-25 m3 116.9 |116. 9+7. 2+8.8=132. 9




TEHERLRER
ITERXRS 1 L S| oAl b7} Bl #% = m E
%5 SD345, D29~D32 t 2.319
SD345, D16~D25 t 6.013
SD345, D13 t 3. 689
=85 D13, L=400 Keg 9.6
BiEHh T ATELTFToHh—R-12 AELUL) & 24.0
zi5 He48 Hhm” 184.0
X1z 184 THR— b ZEm’ 190. 7
AF 7K BE B, NREEY m2 15.2
a9 )— b, 18-8-40 m3 2.5 |xBHuBE. EEAKCET.
EZ & Bh A AR B SEEEY m2 12.7
V49— F, 24-8-25 m3 7.2
8% 85, SD345 D16~D25 t 0. 592
885, SD345 D13 t 0.027
B #h4t, 727700 R, 1=10mm m2 -
242y B SEEEY m2 43.0
V49— F, 24-8-25 m3 8.8
8% 85, SD345 D16~D25 t 0.102
8% 85, SD345 D13 t 0.310
= R (GI-36) EEERRA, RC-40, t=20cm m2 6.4
B BHEEY m2 24.0
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a9 1)— 1k, 18-8-40 m3 8.6
EEEET =® 1.0
avHo)—+rJOy o BT ® 1.0 [BR&
avo)—rJBYY #£35cm m2 89. 8
EAao)—+k 18-8-40BB, t=15cm m3 1.1
fAsAa>2)—+k 18-8-40BB m3 19.8
EABRR RC-40 m3 47.2
B 44 IS5RZA K, t=10mm m2 10. 1
EREMRT B430, H250 m 9.1
EREMT B550, H350 m 16.9
Ximaro)—rI W=121 m 12.2
Ximaro)—rI W=894 m 1.1
HokiEEm T =K 1.0
EEXT =K 1.0
RYE T e HEAI m3 229.3
EEEIF m2 194. 7
HER C m3 120. 4




TEHERRER
ITERS i oAl WAl - Bl #% = wm =

D m3 11.6
fiET = 1.0
15 8i# PU3-B300-H300 m 107.7
25liE PU1-B300-H300 m 86. 2
9= fliE B B %) Ac{8i&500%1000 m 14.0
105liE B E 4 Bc {81 i#500+1000~ 1300 m 20.0
BiE= 1SHER ® 81.0
BiE= 25 fliER ® 10.0
EET =X 1.0
15EE aftE ¢300 m 4.9
VP ¢ 200 m 9/.6
VP ¢ 200 Bk LR VP m 0.0
SEkHT =® 1.0
EY\8 B500xL500+H600 57l 2.0

B600*+L600*H700 (G513l 2.0 |Erft= 5 7K4E ¢ 200 N=28FR

EXKHT B700%L700+H700~1250 B 2.0 |Erft= 7K€ ¢ 200 N=3EfrR
B800*+L800*H1200~1550 517l 1.0




TEHERRER

ITERS I i i Al wmooA b3 4 Bl % = i
B900%L900xH2200 PR 0.0
%ﬁ){ﬂ:
SBET = 1.0
FAI77IL MEHET = 1.0
TR BEY Sy ¥—3 2 (RC-30, t=10cm) m2 48.0
LBk BAERRRA RM-30, t=10cm) m2 48.0
=E BAEZRETAIY, t=5cm m2 48. 0
[h €T = 1.0
FRAEIRGEMT =% 1.0
H—FKL—J Gr-G-2B, H=0. 70m m 12.0
Gr-G-4E, H=0. 70m m 10.0
N
BEYMHEET
BEYRELT =X 1.0
WY -MEEYMEUE L R m3 8.0
WY -MEEYMEUE L KR m3 14. 2




TEHERRER

ITERS I 7@ # Al oAl 3] B % = i
FHEEhREREE L FAI7IL b, t=5cm m2 512.5
tIBE  t=5cm m 59.0
BB AL IE T = 1.0
B8 HR A0 I |- 5% m3 8.0
EXARIVYY - bk m3 14.2
FRAI7IL 5% m3 25.6 [V=0. 05%512.5
1R E%
REx T
RE% BT
REIFERY - 16 t=20cm m3 97. 4
BT W=4. Om m3 383.0
FEEER B+ &8 m2 221.5
HEa W=3. Om, t=10cm m2
R #HE T
ABELDS SE o 4.0
i - BE % 4.0
REXERET
EE SZEPEE (¢800) m 12.5
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HWELSTR ERLIT
i# Al oA =R {72 = =
HEEIT 28
EH (7) *+—7 L RHl m’ 7.3
il m’ 19.8
wEFELY t=20cm m? 351.2 [V=351. 2%0. 20=70. 2n®
BAELTT ®
BRI W<1. 0 m° 2.9
1.0=SWK2.5 m° 43.6
2.55W<4.0 m° 9.8
BRAREL T =
BEER W<1. 0 m° 13.0
1.0=SWK2.5 m° 33.0
2.55W<4.0 m° 1.3
4.0=W m° 273.8
fTHELT =%
BEBHER CRETE L) W<1. 0 m° 5.0
1.0=SWK2.5 m° 13.4




HELHTER ERLTIT
& Al Mmoo Al 537} & ==Rivd #H =2 i E
REEELT %
3 Y {3+ (BR) 2.5=W<4.0 m’ 10.0
FEEERT =+
EEER L) m’ 58. 6
EEER (BLE) m 111.8
RITUET %
R+ m° (132.9)




T TITESE

##HI 27.1
21.1
19.8 FEnEAl
1.3 #A—T7 1EHI
KR 1016. 1
1,016.1 m 27.1+1016. 1
55.2 HEEET
131.6 hIN—FrIT = 1,043.2
229.3 HEkBEYM T
# R HR 681.1/0.9 =756.8 BRM mAL
681.1 m’ 681.1 m® 756.8 m’ 756.8 m®
135.3 HEEET
353.8 hInN—FrIT 1043. 2- 756. 8
192.0 HEkBEYM T = 286. 4
Bt+T 377.4/0.9 =419.3 i AL
377.4 n? 419.3 419.3 n’
321.1 HREL
56. 3 BiARLT 286. 4~ 419.3
= -132.9
“BL
-132.9 n®
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TREAI GEES)

BERER (A — T -18)

EERER (FrEnaR)

3 5 B

AR = WERE | i +8 e WERE | T +8 e
No.30+ 0.0 0.0 0.0
No.31+ 0.0 20.0 0.3 0.15 3.0 0.0 0.00 0.0
No.32+ 0.0 20.0 0.0 0.15 3.0 0.3 0.15 3.0
No.32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.1 0.20 1.9
No.33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.05 0.5
No.34+ 0.0 20.0 0.1 0.05 1.0 0.0 0.00 0.0
No.34+ 6.4 (KA9-1) 6.4 0.0 0.05 0.3 0.5 0.25 1.6
No.35+ 0.0 13.6 0.0 0.00 0.0 0.5 0.50 6.8
No.36+ 0.0 20.0 0.0 0.00 0.0 0.0 0.25 50
No.36+ 5.1 (KE9-1) 51 0.0 0.00 0.0 0.0 0.00 0.0

BOXER
No. 37+ 10.7 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.38+ 0.0 9.3 0.0 0.00 0.0 0.0 0.00 0.0
No.39+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0
No.39+ 9.8 (KE9-2) 9.8 0.0 0.00 0.0 0.1 0.05 0.5
No.40+ 0.0 10.2 0.0 0.00 0.0 0.0 0.05 0.5
& &t 174. 4 1.3 19.8




BT T H ARt
A & B BEr W<41.0) Bt (1.0=W<2.5) Bt (2.5=W4.0) Et 4.0=W) .
HTE A 15 =2 HTE A 15 =2 HTE A 15 =2 HTE A 15 =
No. 30+ 0.0 0.0 0.0 0.0 0.0
No.31+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.32+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.34+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.15 3.0 0.0 0.00 0.0
No. 34+ 6.4 (KA9-1) 6.4 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.15 1.0 0.0 0.00 0.0
No.35+ 0.0 13.6 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 37+ 10.7 0.0 0.1 1.8 0.3 0.0
No.38+ 0.0 9.3 0.1 0.10 0.9 1.8 1.80 16.7 0.3 0.30 2.8 0.0 0.00 0.0
No.39+ 0.0 20.0 0.0 0.05 1.0 0.6 1.20 24.0 0.0 0.15 3.0 0.0 0.00 0.0
No.39+ 9.8 (KE9-2) 9.8 0.1 0.05 0.5 0.0 0.30 2.9 0.0 0.00 0.0 0.0 0.00 0.0
No.40+ 0.0 10.2 0.0 0.05 0.5 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
& &F| 149.3 2.9 43.6 9.8 0.0




Bt T AR

A A B BEr W<41.0) Bt (1.0=W<2.5) Bt (2.5=W4.0) Et 4.0=W)
HTE A 15 =2 HTE A 15 =2 HTE A 15 =2 HTE A 15 =

No. 30+ 0.0 0.0 0.0 0.0 0.0
No.31+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.32+ 0.0 20.0 0.1 0.05 1.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.32+ 9.7 (KE8-1) 9.7 0.1 0.10 1.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.33+ 0.0 10.3 0.2 0.15 1.5 0.4 0.20 2.1 0.0 0.00 0.0 0.0 0.00 0.0
No.34+ 0.0 20.0 0.2 0.20 4.0 0.6 0. 50 10.0 0.1 0.05 1.0 0.0 0.00 0.0
No. 34+ 6.4 (KA9-1) 6.4 0.3 0.25 1.6 0.7 0.65 4.2 0.0 0.05 0.3 0.0 0.00 0.0
No.35+ 0.0 13.6 0.0 0.15 2.0 0.0 0.35 4.8 0.0 0.00 0.0 0.0 0.00 0.0
No.36+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 7.1 3.55 1.0
No.36+ 5.1 (KE9-1) 5.1 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 6.6 6. 85 34.9
No. 37+ 10.7 0.0 0.1 0.05 0.0 0.0 0.00 0.0 0.0 0.00 0.0 8.7 4,35 0.0
No.38+ 0.0 9.3 0.1 0.10 0.9 0.0 0.00 0.0 0.0 0.00 0.0 8.7 8.70 80.9
No.39+ 0.0 20.0 0.0 0.05 1.0 0.8 0. 40 8.0 0.0 0.00 0.0 0.0 4,35 87.0
No.39+ 9.8 (KE9-2) 9.8 0.0 0.00 0.0 0.0 0. 40 3.9 0.0 0.00 0.0 0.0 0.00 0.0
No.40+ 0.0 10.2 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0

& & 174.4 13.0 33.0 1.3 273.8




BT T THEt (REEL)
B B Efl ®’E W40 A8 B WK1.0) Ef Bt (1.0=W<2.5) ARl BE (1.0=SW2.5) .
WEE | T T8 | mEE | Ty T8 | mEE | Ty T8 | mEE | Ty 8
No.30+ 0.0 0.0 0.0 0.0 0.0
No.31+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.32+ 0.0 20.0 0.0 0.00 0.0 0.2 0.10 2.0 0.0 0.00 0.0 0.0 0.00 0.0
No.32+ 9.7 «es-| 9.7 0.0 0.00 0.0 0.1 0.15 1.5 0.0 0.00 0.0 0.0 0.00 0.0
No.33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.05 0.5 0.0 0.00 0.0 0.0 0.00 0.0
No.34+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.34+ 6.4 (n-1)| 6.4 0.0 0.00 0.0 0.1 0.05 0.3 0.0 0.00 0.0 0.0 0.00 0.0
No.35+ 0.0 13.6 0.0 0.00 0.0 0.0 0.05 0.7 0.0 0.00 0.0 0.2 0.10 1.4
No.36+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 4.0
No.36+ 5.1 E9-| 5.1 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 1.0
No.38+ 0.0 0.0 0.0 0.0 0.0 0.2
No.39+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 4.0
No.39+ 9.8 «(Eo-2| 9.8 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.2 0.20 2.0
No. 40+ 0.0 10.2 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.10 1.0
& | 165.1 0.0 5.0 0.0 13.4
EHEEH 5.0 13.4




BT

REgmt (BH)

A =

B B

Bt (2.5=W4.0)

s
WEE | T | 12 | HEE | T8 g | waw | Tn g | waw | Tn g ;
0.0 0.0
0.0 20.0 0.5 0.25 5.0
0.0 20.0 0.0 0.25 5.0
& 40.0 10.0




EHETT rrigELY
- T _ZELEJJ xETlFEELY _— _ELEJJ xETIFEELY .
& Fiy mE & iy mE
No. 30+ 0.0 0.0 0.0
No.31+ 0.0 20.0 0.0 0. 00 0.0 0.0 0. 00 0.0
No. 32+ 0.0 20.0 0.0 0. 00 0.0 0.8 0. 40 8.0
No.32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.3 0.55 5.3
No. 33+ 0.0 10.3 0.0 0. 00 0.0 0.0 0.15 1.5
No. 34+ 0.0 20.0 0.0 0. 00 0.0 0.0 0. 00 0.0
No.34+ 6.4 (KA9-1) 6.4 0.0 0.00 0.0 0.5 0.25 1.6
No. 35+ 0.0 13.6 0.0 0. 00 0.0 1.9 1.20 16.3
No. 36+ 0.0 20.0 0.0 5.4 3.65 73.0
No.36+ 5.1 (KE9-1) 5.1 0.0 0.00 0.0 3.7 4.55 23.2
BOXEB

No. 37+ 10.7 0.0 0.0 0. 00 0.0 7. 3.75 0.0 |NO. 38 FH
No. 38+ 0.0 9.3 0.0 0. 00 0.0 1.5 7.50 69.7
No. 39+ 0.0 20.0 0.0 0. 00 0.0 3.6 5.55 111.0
No.39+ 9.8 (KE9-2) 9.8 0.0 0.00 0.0 2.4 3.00 29. 4
No. 40+ 0.0 10.2 0.0 0. 00 0.0 0.0 1.20 12.2

& it| 1744 0.0 351.2

EE4&E 351.2




BT T

FEEER (P1)

1,5 " @l UILiEmER - Al ULiEmER _—
& Fiy mE & Fiy miE
No. 31+ 0.0 0.0 0.0 0.0
No. 32+ 0.0 20.0 0.0 0.00 0.0 0.5 0.25 50
No. 32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.6 0.55 53
No. 33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.30 3.1
No. 34+ 6.4 (KA9-1) 0.0 0.0 0.0
No. 35+ 0.0 13.6 1.4 0.70 9.5 0.4 0.20 2.7
No. 36+ 0.0 20.0 0.0 0.70 14.0 0.0 0.20 4.0
No. 36+ 5.1 (KE9-1) 51 0.0 0.00 0.0 0.0 0.00 0.0
No. 38+ 0.0 0.0 0.0 0.0
No. 39+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 39+ 9.8 (KE9-2) 9.8 0.0 0.00 0.0 1.5 0.75 7.3
No. 40+ 0.0 10.2 0.0 0.00 0.0 0.0 0.75 1.1
& it 108. 5 23.5 35.1
EHEE 58.6




Bt T EEER (BB1)
a5 " @l BiiEmER - HE BiiEzmER _—
& Fiy mE & Fiy miE
No. 30+ 0.0 0.0
No. 31+ 0.0 20.0 0.0 0.00 0.0
No. 32+ 0.0 20.0 0.0 0.00 0.0 0.2 0.10 2.0
No. 32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.1 0.15 1.5
No. 33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.05 0.5
No. 35+ 0.0 0.0 0.0 0.0 0.05 0.0
No. 36+ 0.0 20.0 1.1 0.55 11.0 1.4 0.70 14.0
No. 36+ 5.1 (KE9-1) 51 0.0 0.55 2.8 1.2 1.30 6.6
BOXER
No. 37+ 10.7 0.0 2.0 1.00 0.0 NO.38ikF
No. 38+ 0.0 9.3 2.0 2.00 18.6
No. 39+ 0.0 20.0 1.8 1.90 38.0
No. 39+ 9.8 (KE9-2) 9.8 0.8 1.30 12.7
No. 40+ 0.0 10.2 0.0 0. 40 4.1
& it 134. 4 13.8 98.0
ELE&E 111. 8
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MEEHTER ZEI
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b e i Y1 L& m’ 58. 6
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EEL BT HA_ (Y1)
H, H,
S . R FEFES WD) _— A ETFEm 1) .
Rc Fiy A Rc Fiy i
No.31+ 0.0 0.0 0.0 0.0
No.32+ 0.0 20.0 0.0 0.00 0.0 0.5 0.25 5.0
No.32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.6 0.55 5.3
No.33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.30 3.1
No. 34+ 6.4 (KA9-1) 0.0 0.0 0.0
No. 35+ 0.0 13.6 1.4 0.70 9.5 0.4 0.20 2.7
No. 36+ 0.0 20.0 0.0 0.70 14.0 0.0 0.20 4.0
No. 36+ 5.1 (KE9-1) 5.1 0.0 0.00 0.0 0.0 0.00 0.0
No.38+ 0.0 0.0 0.0 0.0
No.39+ 0.0 20.0 0.0 0.00 0.0 0.0 0.00 0.0
No.39+ 9.8 (KE9-2) 9.8 0.0 0.00 0.0 1.5 0.75 1.3
No. 40+ 0.0 10.2 0.0 0.00 0.0 0.0 0.75 1.1
a § 118.7 23.5 35. 1
ER&E 58. 6




EEL BT HA (1)
H, H,
S . =R FEFEH (BL) _— AR ETFEm (B .
Rc Fiy A Rc Fiy i
No. 30+ 0.0 0.0
No.31+ 0.0 20.0 0.0 0.00 0.0
No.32+ 0.0 20.0 0.0 0.00 0.0 0.2 0.10 2.0
No.32+ 9.7 (KE8-1) 9.7 0.0 0.00 0.0 0.1 0.15 1.5
No.33+ 0.0 10.3 0.0 0.00 0.0 0.0 0.05 0.5
No. 35+ 0.0 0.0 0.0 0.0 0.05 0.0
No. 36+ 0.0 20.0 1.1 0.55 11.0 1.4 0.70 14.0
No. 36+ 5.1 (KE9-1) 5.1 0.0 0.55 2.8 1.2 1.30 6.6
BOXEB

No. 37+ 10.7 0.0 2.0 1.00 0.0 |NO. 38iH
No.38+ 0.0 9.3 2.0 2.00 18.6
No.39+ 0.0 20.0 1.8 1.90 38.0
No.39+ 9.8 (KE9-2) 9.8 0.8 1.30 12.7
No. 40+ 0.0 10.2 0.0 0.40 4.1

a § 134.4 13.8 98.0

111.8
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MEHHE HET
G WAl OB AL = 1
EELT =
BR R R ) m° 55. 2
BEEEE m° 34.1 4.1+30.0
#BREL C m° 34.2
D m° 1.5
ISRATTHERE T =
25 B HABEE GI-2, T +9H=0. 99m, L=5. 09m m° 2.8
35 E Hk iR GW-36, T #H=1. 90m, L=17. 25m m’ 31.8




g T 15747 B T KW E
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fi B TS HES fi B T3 S
No. 32+8. 81~ No. 32+13. 7243k 5.1 |25 EHA R
No. 34+10. 82~ No. 35+7. 933k 17.3 |35 EHA R
F 22. 4 0.0
EEEE 22.4
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=
fi B T3 HES fi B T3 S

=G5

|




{EELTT PERE T
FRYE (£75) 185 (C) 185 (D)
S BB _ ” _
WERE  F Ty g Ty
No.32+ 8.8 0.0 0.8 — — — KES—13% F
No.32+ 9.7 (KE8-1) 0.9 0.8  0.80 0. 30
No. 32+ 13.7 4.0 0.8 0.80 0. 30 KES—137% F
No. 34+ 10.8 0.0 3.0 1.50 1.00 NO. 3537 F
No.35+ 0.0 9.2 3.0 3.00 2.00
No.35+ 7.9 7.9 3.0 3.00 2.00 NO. 3537 F
& i 22.0




2EEAXERE (GH-2) 1.0 %Y M = i HE £
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FAI7IL h5% m’ 25.6 |V=0. 05+512. 5




BEYMHEET

BEE HEEYEREL

|AHIV)-MEUR L

#RARI))- MR L

MR AR EE L t=5cm

Ao BE awm Ty s i iy s g 1y ik =
No.30+ 0.0 0.0 0.0 0.0
No.31+ 0.0 20.0 0.2 0.10 2.0 0.0 0.00 0.0 3.1 1.55 31.0 |SHEEREIBRL=23. 4+24. 1=47. 5m
No.32+ 0.0 20.0 0.0 0.10 2.0 0.0 0.00 0.0 0.0 1.55 31.0
No.32+ 9.7 (KES-1) 9.7 0.0 0.00 0.0 0.00 0.0 0.0 0.00 0.0
No.33+ 0.0 10.3 0.0 0.00 0.0 0.00 0.0 0.0 0.00 0.0
No.34+ 0.0 20.0 0.3 0.15 3.0 0.00 0.0 4.7 0.0 |%AZERRLIET L=4. Tm
No. 34+ 6.4 (KA9-1) 6.4 0.0 0.15 1.0 0.00 0.0 3.9 4.30 21.5
No.35+ 0.0 13.6 0.0 0.00 0.0 0.00 0.0 3.8 3.85 52.4
No.36+ 0.0 20.0 0.0 0.00 0.0 0.00 0.0 3.8 3.80 76.0
No. 36+ 6.4 (KE9-1) 6.4 0.0 0.00 0.0 0.00 0.0 5.2 4.50 28.8
No.37+ 0.0 13.6 0.0 0.00 0.0 0.00 0.0 3.6 4.40 59.8 |SHEMUIET L=3.0m
No.38+ 0.0 20.0 0.0 0.00 0.0 0.00 0.0 3.9 3.75 75.0 |HfTE A=3.0%18.0=54.0m
No.39+ 0.0 20.0 0.0 0.00 0.0 0.00 0.0 3.8 3.85 77.0 |SHEMUIET L=3.8m

& E&f| 180.0 8.0 0.0 512.5




B (1) 1.0 Xy M = E H
A& W X » 5 = B BB
m’ 14.2

BHFaUs Y — FRIEL (6. 30*0. 53-6. 16x0. 08) *5. 0

BE L=5.0m

6160

6500




